Dec-AddSub-L1 Setl!

Question 1 [25 marks] Question 2 [25 marks]
0: 224+48=70 0: 10.94+8.3=19.2
r.1+60=__ 1: 1.94+6.6 =
242496=___ 2 0.0+ 2.7 =
3144+30=__ 3 .6+81=
4:194+96=__ 4 13434 =
5 714+10=__ 5 100+ 7.7 =
6: 984+96=___ 6: 2.4+ 1.5 =
7. 74+105=__ 7. 24495 =
8 304+48=___ 8: 10.8 +8.2 =
930+ 4= 9: 4.6 +8.7 =

10: 66 +8=__ 10: 40+5.1=
1m: 254+46=___ 11: 6.4+6.1 =
122 84+30=__ 12: 10.0 + 3.0 =
13: 40+87=___ 13: 9.8+5.4 =
14: 834+27=___ 14: 8.8+ 7.4 =
15: 33+106=__ 15: 1.147.0=
6: 144+ 2=__ 16: 4.04 5.5 =
17: 5.3 +107 = 17: 9.1+4.9 =
18 344+82=____ 18: 1.7+ 1.1 =
190 7T8+43=___ 19: 41443 =
200 44+94=__ 20: 10.9 +8.2 =
21: 5.0+H3=__ 21: 4.342.3 =
222 1.0+46=___ 22: 3.3+ 2.5 =
23: 62+67=___ 23: 8.7+ 2.7 =
24: 874+33=___ 24: 8.3+ 5.1 =
25: 204+81=___ 25: 4.6 +.2 =
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Question 3  [25 marks] Question 4  [25 marks]
0 8.7+32=11.9 0: 484+.9=5.7
: 109459=__ 1: 89+3.0=
2624756=___ 2 3.4+ 73 =
32 1564+12=__ 3: 85+ 18 =
4: 38+95=__ 4 21428 =
5:41+12=__ 5 9.5+ 98 =
6: 3.6 +23=__ 6: 6.3+6.3 =
7. 14+87T=___ 7. 9.6 +9.0 =
8 1.14+109=____ 8 2.1+ 8=
9. 109493 =__ 9 .7+ .5=
10: 6.0+88=___ 10: 23+ 6.8 =
1m: 784+24=___ 1: 44+13 =
122084 5= 12: 9.2494 =
13: 26 +856=__ 13: .9+9.3 =
14 114+101= 14: 5.6 +2.7 =
15: 854+86=___ 15: 5.3+ 10.0 =
6: 894+14=__ 16: .0+ .6 =
17: 23495 = 17: 6.4+9.9 =
18254+ 9=___ 18: 10.8 +9.3 =
19: 77+61=___ 19: 29+9.3 =

200024+ 2=__ 20: 3.1 +0 =

21: 234+6.7=__ 21: 4.2448 =
22 26+97=___ 22: 2.3+ 9.7 =
23: 101 +59=___ 23: .4+ 10.5 =
24: 934+61=__ 24: 8.5+ 7.2 =
25: D7 +25=___ 25: 1.94+7.2=
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Question 5 [25 marks] Question 6 [25 marks]
0 .8+74=282 0: 10.94+6.8 =17.7
L 77T+62=___ 1: 4.04+2.6 =
2634+43=___ 2. 494+ 1.3 =
32342498=___ 3: 105+ 7.8 =
4 83+4=__ 446494 =
5 78438=___ 5 5.8 +4.6 =
6: 103+10.7=__ 6: 6.4+ 3.6 =
7. 1074+92=____ 7. 3.2+ 38 =
8 164+87T=___ 8 9.5+7.6 =
9. 95+11=___ 9: 9.0+5.9 =

00 1.0+13=__ 10: 8.4+3.2 =
1m: 464+106=__ 1: 7.8 +4.5 =
12: 78431=__ 12: .7+ 10.5 =
13: 21+956=__ 13: D+ 3.7T=
14: 29457=___ 14: 104 +9.1 =
15: 1024+65=__ 15: 9.5+ 2.1 =
16: 644+54=__ 16: 1.248.4 =
17 1084+61=__ 17 9+ 0=

18 914+27=__ 18 1.347.2=
19: 544+60=__ 19: 1.147.9 =
200 3.1 +102 = 20: 3.0+ 3.3 =
21: 104+19=___ 21: .8+ .3 =
22: 22435=_____ 22: 7.5+ 5.2 =
23 20+20=__ 23: 6.4+ .7 =
24: 106 +21=___ 24: 9.6 49.2 =
25: 28437 =__ 25: 1.3+ 7.7 =
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Question 7 [25 marks] Question 8 [25 marks]
0: 10.2+5.92 = 16.12 0: 3.94+4.44 =8.34
:194+38=___ 1. 1.74+5.35 =
22 37+480 = 2. 6.1 +10.16 =
3280+134=__ 3: 7.4+ 6.58 =
4 684+896=___ 4. 10.7+2.23 =
5 804874 =__ 50 1.94 .45 =
6: 6.74+614=__ 6: 1.9+ .15 =
7.23+570=_____ 7. 8.2+ 248 =
8 H53+437T=____ 8 5.1 +6.37 =
9: 2.74+518=__ 9: 7.0+ 7.07 =

10: 81+58=____ 10: 3.0 +10.84 =
1m: 6.9+543=__ 11: 4.146.93 =
122 524824 =__ 12: 2.9+ 2.63 =
13 5+394=___ 13: 8.6 4+ 2.48 =
14: 834+956=__ 14: 7.9+ .84 =
15: 6.84+420=__ 15: 8.0+ 6.93 =
16: 46+1013=____ 16: 5.1 +6.87 =
17 04833 = 17: 24+ 3.97 =
18 78+743=___ 18: 4.1 4+6.89 =
19: 34+961l=_ 19: 9.549.40 =
20 3.6 +344 = 20: 6.4+ 1.04 =
21: 103 +331=__ 21: 6.1 4+ 10.86 =
222 6.0+200=___ 22: 4.5 4 6.16 =
23: 264+188=___ 23: 6.8 + .86 =
24: 494684 =___ 24: 9.445.85 =
25: 9.0+1053 =__ 25: 4.6 +8.19 =
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Question 9  [25 marks] Question 10 |25 marks]
0: .8+6.99 =779 0: 7.8 +6.83 = 14.63
L 764217=____ 1: 224994 =
2 1034+937=__ 2.1 4947 =
32274+838=___ 3.0+ 10.20 =
4: 484 45=___ 4 10.4 +2.06 =
5 264+1065=__ 50 4.7+10.43 =
6: 894+390=___ 6: 1.8 +2.63 =
7. 884702=___ 7. 1.9+ 7.69 =
8 164+343 = 8 844 .20 =
9 144+751=__ 9: 8.2+ 3.40 =

0: 15+277T=__ 10: 10.6 +5.99 =
1: 10564809 =___ 11: 3.9+ 5.86 =
12 3841015 = 12: 4.7+ .68 =
13: 1094806 =__ 13: 7.9+ 4.16 =
14: 354807 = 14: 10.5+3.04 =
15:324919=___ 15: 9.1 4+4.97 =
16: 34+545=___ 16: 8.0+ 4.77 =
17: 6.7+383=__ 17: 5.0+ 5.32 =
18 6+27H=___ 18: 10.3+9.61 =
19: 46 +846=__ 19: 9.7+ 9.72 =
200 1O +711=___ 20: 4.0 +4.15 =
21: 294603 =__ 21: .6 +9.46 =
222 64+196=___ 22 1.0+ 3.18 =
23 O+.20=_ 23: 9.6 + 1.58 =
24: 404434 =__ 24: 6.4 4 3.66 =
25: 1094+935=__ 25: 1.4 4 8.25 =
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Question 11 |25 marks] Question 12 [25 marks]

0: 5.7+ .98 = 6.28 0: 9.8 410.73 = 20.53
:944+786=__ 1: 20+9.79 =
2384.09=__ 2: 3.0+ 7.89 =
3154+ 40=__ 3. 10.8+7.98 =
4 754921l=_ 4 484134 =

5 984+.76=___ 50 2.9 +4.97 =

6: 9.7 4+433=___ 6: 5.4+ 10.04 =
7.51+156=____ 7. 8.2+ 377 =

8 744+13=___ 8 5.9+ 8.06 =

9. 97+991=_ 9: 2.7+ 8.88 =
10: 30+788=____ 10: 4.0+ 1.78 =
1: 40+103 = 11: 7.3+ 3.01 =
122 824+792=__ 12: 4.6 +9.81 =
13: 100+1082 = 13: 7.5+4.99 =
4 73+61l=___ 14: 3.244.75 =
15: 204+273=___ 15: .9+ .60 =

16: 644742 =__ 16: 10.2 +2.19 =
17 19+879=__ 17: 10.1 4+ 10.64 =
18 1.04+881=__ 18: 8.2+ 3.15 =
19: 344+820=__ 19: 244 9.31 =
200 89+763=____ 20: 9.9 + 3.64 =
21: 94+934=__ 21: 7.5+ 10.77 =
222 914+979=__ 22: .7+ 6.42 =
23: 7.2+489=___ 23: 4+ 7.44 =
24:. 1.04+497=___ 24: 9.8 4+ 3.05 =
25: 9.0+ 117T=__ 25: 10.5 + 10.87 =
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Question 13 |25 marks] Question 14 |25 marks]

0. 7.6 —-.1=75 0 10.0—-.7=9.3
:88—43=___ : 98 -4.1=
2 107—-11=__ 2. 103 - 1.3 =
385—-34=__ 3 10.8 = 5.2 =
4. 82—-32=____ 4: 7.5 —4.0 =
5 83—-35=__ 5 6.3 —-4.0=
6: 105 —-26=___ 6: 10.7 —4.0 =
7.59-27=____ 7. 10.8 —4.1 =
8 6.1 —-28=__ 8 0.2—4.7=
9104 -37=__ 9: 6.6 — 1.2 =
10: 89—-43=___ 10: 84 —2.5=
11: 89 —-45=______ 1: 7.7—.5 =
12:109-11=__ 12: 7.2 —-5.1=
13:97—-16=__ 13: 8.6 —4.3 =
4 73—-31=_ 14: 9.8 -1.0=
15: 80—-26=___ 15: 6.8 — 3.3 =
6: 103 —40=___ 16: 5.6 — 1.5 =
17: 54 —-38=__ 17: 108 =34 =
18 H55—H5=__ 18: 9.8 —1.6 =
19: 76—-12=____ 19: 54 —3.5=
20 61 —-33=___ 20: 8.5 —4.8 =
2: 89 —-17=__ 21: 10.5 — 2.3 =
22282 —-2=__ 22: 9.4 —4.0=
23: D6 —42=__ 23: 6.8 = 5.6 =
2%: 64—-32=___ 24: 9.4 — 54 =
25: 81—-50=___ 25: 8.3 —13 =
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Question 15 |25 marks] Question 16 |25 marks]

0. 6.9—-12=5.7 0. 10.3—-1.0=9.3
L76—-28=____ 1: 95 —-24=
201l—6=___ 2. 8.9 —-54=
32367-28=__ 3 82—-23=
4$63-20=____ 4: 10.6 — 5.2 =
5 77—5=_ 5 105 —1.6 =
6: 2—19=__ 6: 9.2 -39 =
7.87T—13=____ 7.04—-16=
8 01—-38=__ 8 6.4—43=
9. 64—-23=____ 9: 6.3 —2.5 =
10: b3 —47=__ 10: 7.7 —=2.7=
1m:60—-7=____ 11: 8.7—.5 =
12299-12=___ 12: 6.8 —2.7=
13: 109 -59=___ 13: 7.9 —44 =
14: 86—-30=__ 14: 94 —-49 =
15: 98 -3 = 15: 9.5 —3.8 =
16: 107 —8=___ 16: 6.1 —3.1 =
17:94—-24=__ 17: 64 —-1.5=
18 60—-46=___ 18: 9.6 — 2.2 =
19: 95—-156=___ 19: 7.2 — .2 =
200 0.5 —29=__ 20: 10.4 — 3.9 =
21: 104 —-38=__ 21: 10.5 — 1.2 =
222 104 —-29=___ 22: 10.2 = 5.1 =
23: 0.0 —-26=___ 23: 9.6 — 3.1 =
2: 76—-30=__ 24: 5.3 —2.3 =
25: 79—14=__ 25: 9.0 — 2.5 =
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Question 17 |25 marks] Question 18 [25 marks]

0. 7.2—-3.0=4.2 0 50.0-44=.6
:88-34=____ 1 87—.3=
264—-25=__ 2. 6.1 —4.5 =
379-0=__ 3: 10.6 — 5.8 =
4$59-12=___ 4: 10.8 —2.5 =
500-35=__ 5 92—-10=
6: 6.3 —41=__ 6: 5.8 —3.2 =
7.261—-24=____ 7. 0.5 —4.0=
8 76—-34=___ 8 10.7—4.3 =
9. 54—-38=___ 9: 7.6 — 3.8 =
10: 69—-24=__ 10: 5.3 —.8 =
1m: 104 —-0=__ 1: 7.7—-953 =
122 103 -33 = 12: 10.5 —4.5 =
13:956—-44=__ 13: 7.7—3.2=
4. 72—-42=____ 14: 8.1 —-4.2 =
15: 85—H5=___ 15: 5.8 —4.9 =
16: 87 —-18=___ 16: 6.9 —1.3 =
1789 —-5=____ 17: 6.3 — 4.6 =
18 87—-40=__ 18: 7.0 —4.3 =
19: 96 -16=___ 19: 7.4 =53 =
200 6.3 —-53=___ 20: 5.3 — 1.7 =
21: 71 —13=___ 21: 9.4 —4.0 =
22 82—-25=__ 22: 8.3 — .6 =
23: D8 —T=__ 23: 10.6 — 1.6 =
24: 99—-56=___ 24: 10.8 — 4.6 =
25: 6.1 —-22=__ 25: 6.6 — 1.8 =
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Question 19 |25 marks] Question 20 |25 marks]

0: 6.9 —.08 = 6.82 0: 10.2 —2.20 = 8.00
:59-439=___ 1 5.1—.17=
2209-328=_ 2: 9.2 -489 =
306—-5081=___ 3104 — 3.88 =
4 71—-46=___ 4: 5.1 —=1.76 =
5 70—413=___ 5 5.9 —2.69 =
6: 89—-123=___ 6: 7.9 —1.06 =
7278 —20=___ 7. 5.2—-493 =
8 80—-402=____ 8: 9.8 —5.19 =
9. 65—-269=____ 9: 10.2 — .82 =
10: 81 —-183 = 10: 7.6 —4.59 =
11: 6.0-345=___ 11: 5.9 —2.62 =
12 10.7—-5183=_ 12: 8.2 —2.07 =
13: 6.8—-586=__ 13: 9.5 —3.34 =
14: 87—-179=_ 14: 6.6 — .28 =
15:050—64=___ 15: 8.8 —3.70 =
16: 7.8 —348=___ 16: 6.7 —1.70 =
17: 97-114=__ 17: 5.1 —4.86 =
18 93—-388=___ 18 7.1 —.39 =
19: 87—-03=__ 19: 9.6 — 2.37 =
20 83—-H500= 20: 5.2 —2.95 =
21: 9.1 -323=__ 21: 5.9 —1.80 =
222 52—-342=__ 22: 8.9 —4.43 =
23 81 —-446=__ 23: 9.0 —1.53 =
24: 6,1 —420=__ 24: 10.1 — .17 =
25: 0.8 =14l =___ 25: 9.9 —2.99 =
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Question 21 |25 marks] Question 22 |25 marks]

0: 7.7 —4.66 = 3.04 0: 10.3 —=2.77 = 7.53
1 107—-448=___ 1: 5.7 —481 =
2201—-257=____ 2. 6.7 —3.49 =
3260-520=__ 3 6.0 —3.99 =
4 50-353=___ 4: 6.8 —1.71 =
5 87—28=___ 5 6.6 —4.14 =
6: 106 -3.76=___ 6: 7.1 —3.46 =
7.280—-502=___ 7. 87—151 =
895 —-13=__ 8 6.7 —1.57 =
9.89-435=___ 9: 9.7-1.13 =
10: 66 —-233=____ 10: 8.8 —1.65 =
1m: 95 —533=__ 11: 9.9 — .36 =
122 67—281=___ 12: 6.0 — 1.58 =
13:81—-561=__ 13: 6.3 — 5.9 =
14: 6.0-166=___ 14: 7.7 —4.98 =
15:89—-513=___ 15: 9.5 —3.93 =
16: 94—35=__ 16: 10.5 — 3.96 =
17: 107 =594 = 17: 6.3 —2.09 =
18 102—-356=___ 18: 7.5 —2.10 =
19: 70-465=___ 19: 8.6 —1.41 =
20000 —162=__ 20: 6.6 —1.98 =
21: 108 =558 =____ 21: 5.8 — .08 =
22: 6.0 -H8 =_ 22: 9.0 —1.31 =
23 75—137T=__ 23: 6.8 —3.35 =
24: 84 —56=___ 24: 9.5 — .74 =
25: 87 —H548=__ 25: .3 — .21 =
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Question 23 |25 marks] Question 24 |25 marks]

0: 8.8 —=.92="7.288 0: 9.3 -4.03 =5.27
L77T—-214=___ 1: 6.4 —1.56 =
266-202=___ 2. 6.4—195 =
371-5260=___ 3: 10.6 — .50 =
4:62—-428=_ 4 95—-391 =
596-213=___ 5 6.2 —5.84 =
6: 0.1 -230=__ 6: 6.0 —1.95 =
7.67—-458=____ 7. 5.4 =530 =
8 106 —-57=__ 8 5.0 —95.99 =
952-493=____ 9: 6.6 —2.82 =
10: 64—-.08=___ 10: 7.7 =97 =
1m: 79-404=___ 11: 6.7 —1.03 =
122 83 —-108= 12: 10.7 — 4.50 =
13:60—-112=__ 13: 6.9 — 3.88 =
14: 95 —-78=__ 14: 10.7 —1.13 =
15:61—-597T=___ 15: 9.3 —.19 =
6: 96 - 20=__ 16: 6.7 — .10 =
17: 82—-533=____ 17: 94 —-5.19 =
1891 —-528=__ 18: 5.3 —1.77 =
19: 60-392=__ 19: 8.0 —1.57 =
200 95—-226=__ 20: 7.9 — 3.15 =
21: 5.H—563=__ 21: 7.1 — 1.81 =
22 6.8 —43=__ 22: 9.8 — 5.68 =
23 6.0 —270=__ 23: 7.9 —2.35 =
24: 78 —489=___ 24: 6.1 —4.62 =
25: 6.7—-324=__ 25: 8.9 — 3.47 =
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Question 25 |25 marks] Question 26 |25 marks]
0: .866 +1.913 = 2.779 0: .297 4+ 1.845 = 2.142
1: (—.692) 4 .416 = 1: .864 + 1.188 =
2 667 + (—.470) = 2 (—.968) + 1.494 =
5 1.025 +.332 = 5 (—.895) + (—.662) =
& 1156 4 .721 = & (—.535) + 1.635 =
5. 1.406 + 1.756 = 50 1.872 4 1.846 =
6: 1.531 +1.344 = 6: 427+ 1.251 =
7. 351 + 1.721 = 7. 1.170 + 1.995 =
s 597 + 1.802 = 8 (—.015) + (—.784) =
0. 1.668 +1.227 = 0. (—.796) + 1.504 =
10: 1.407 + .354 = 10: .738 + .656 =
1: 1.134 4+ 1.821 = 11: (—.282) + .987 =
12: .575 + .561 = 12: (—.289) + 1.517 =
13: 1.687 + 1.836 = 13: 1.287 +1.141 =
s (—.869) + 1.067 = 14: 1.353 + 1.827 =
15 958 4 (—.770) = 15 492 + (—.777) =
16: .784 + 1.207 = 16: 1.211 4 (—.936) =
17: (—.919) 4+ 1.647 = 17: (—.411) 4+ .865 =
18 378 4 (—.278) = 18 (—.308) + 1.625 =
19: 1.153 + .048 = 19: 1.234 + (—.345) =
20083 + (—.660) = 20: 1.806 + .827 =
21 1189 + 1.147 = 21 (—.101) + (—.242) =
22: 1.458 4+ .265 = 22: (—.166) 4 1.497 =
23: (—.164) 4+ 1.984 = 23: 1.593 + 1.906 =
2 554+ 673 = 21 1774+ (—.213) =
25 106 + 1.303 = 25 (—.535) + 1.551 =
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Question 27 |25 marks] Question 28 |25 marks]
0: 1.253 + 1.175 = 2.428 0 (—.183) + (—.544) = -.727
1 1.342 + (—.287) = 10 1151 + 363 =
2: 1.997 +1.621 = 2: 1.484 + .685 =
5 (—.884) + .873 = 3 594 + 1.560 =
4 (—.171) +.067 = 4 1.732 4+ 1.470 =
5 (—918) + (—732) = 5 1776 + (—.288) =
6 1.167 + (—.523) = 6 (—.382) + .445 =
7 (—.641) + 1.781 = 7 1.799 + 995 =
s 1.322 + 466 — s (—.351) + 1.725 =
9. (—.919) +.150 = 0. 1.887 + (—.121) =
10 (—.210) + 1.907 = 10: 588 + 1,137 =
11: 1.092 + .549 = 11: 649 + (—.224) =
12 (—.381)+(—.836)=__ 12: 1.813 4 .305 =
13: .946 + 1.220 = 13: (—.131) + .655 =
14: 1.959 + 1.304 = 14: (—.758) + .115 =
15: 3134+ 1.732 = 15: (—.595) + 1.456 =
16 1687 + (—.244) = 16: 1.861 + (—.529) =
17: .568 + .256 = 17:.660 + .650 =
18 1719 + (—.368) = 18606 + 1.629 =
19: (—.177) + 1.641 = 19: 1.822 4 .764 =
20: .505 4 557 = 20: .692 + .750 =
21: (—.220) 4 .922 = 21: (—.869) 4+ 1.512 =
22: 1.662 + .057 = 22: 972 + 1.479 =
23: (—.189) 4+ .922 = 23: .128 + .805 =
24: 1.141 + (—.005) = 24: (—.908) + (—.659) =
25: .781 4 1.335 = 25: 1.553 + 1.068 =
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Question 29 |25 marks] Question 30 [25 marks]

0: (—.575) + 1.818 = 1.243 0. 1182 + 1.843 = 3.025
.75 +138=___ 1. (—.418) 4 .668 =
o (—118) + 406 =___ 2 1.530 +.204 =

% 1043+ 766 = 5 752+ (—.024) =

6 (=230 (—048) = & (—.586) +.0

s LTAT41520—= 5 524 + (—.306) =

6 (—.991) +.942=_ 6 287 + (—.829) =

7 (—189) 41106 = 7. (—.166) + (—.092) =
g .3H0+1611=__ 8 1.556 4 (—.245) =
9. 168 +1476 =__ 9. 1.772 +1.311 =
0 (—262) + 975 =__ 10: 1.086 + .679 =

e (—.831) £ 14Td= 11: 061 + 1.416 =

12 (—.067)4+180=___ 12: 1.087 + (—.353) =
13 (—.832)+(—649) = 13: 155 + (—.474) =
14 468 + (—.227) = 14: (—.297) +.066 =
15 8204 (—.656) = 15208 + 976 =

1o (—790) +1.853=__ 16: 1.153 + .401 =

i (—.062)+.291=__ 17: 191 4+ .760 =

s 17044 420= 18 (—.916) +.901 =
19 (—.895) +1.860= 195 (—.871) + 1.122 =
20 (—.653)+1.138=__ 20: 1.724 + (—.894) =
21 (—.896)+1811=__ 21: .549 + 1.294 =

22: (—.512) 4+ (—-.042) = 22: 1.217 4 1.824 =
23: 1.389+ 587 =__ 23: (—.596) + 1.484 =
2 8254 (—643) = 21 1.328 + 1.550 =
25: (—.059)+1.026=__ 25: .006 + .836 =
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Question 31 |25 marks] Question 32 |25 marks]
0: 572 + (—.922) = -.350 0: .860 4 (—.565) = .295
11123 4+ (—.334) = 1702+ 1.493 =
2 (—.508) + (—.037) = 2 (—.043) + 1.757 =
3 1.794 + 1.127 = 3. 1.013 4 .071 =
4: .312 4 1.646 = 4167 + .354 =
5 .175 4+ 1.906 = 5 .079 4+ 1.814 =
6 (—.525) + (—.285) = 6: 930 + 1.490 =
7. 1.910 + 1.147 = 7. .291 + 1.453 =
8 .b90 4 .716 = 8 1.558 4+ (—.356) =
0. 1187 + (—.484) = 0. 1.743 + (—.170) =
10: 1.753 + .099 = 10: .366 + .684 =
11: .043 + 244 = 11: (—.995) + 1.840 =
12 (—.966) +.285 = 12 135+ 1.186 =
13: .813 4+ (—.975) = 13: 1.670 + (—.981) =
14: 795+ 1.324 = 14: 1.068 + 1.068 =
15: 1.984 4+ .970 = 15: .123 4+ (—.583) =
16 735+ 1.175 = 16 1.796 + (—.704) =
17: 490 + 577 = 17 (—.387) 4+ 1.429 =
18 305 4 .139 = 18 (—.077) + 1.662 =
19: 1.452 4+ 410 = 19: (—.724) +1.719 =
20 (—.909) + 1.366 = 20: 304 + (—.919) =
21: 1.200 + .052 = 21: (—.176) + (—.226) =
22: 473 4 (—.631) = 22: 430 + (—.824) =
23: . 149 + 1.125 = 23: .922 4 (—.280) =
24: (—.265) + (—.953) = 24: 1.542 + .320 =
25: 424 + .545 = 25: 1.410 + .285 =
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